
Solution for Worksheet 3

1. Answer: 36 cows and 23 sheep

2. Objective:

(a) Using a chart

(b) Answer: Using stones

(c) Using a notebook

3. Subjective: Answer: Hemant used stones because it was a simple and quick way
to track his animals without needing to write or count complex numbers.

4. Answer: 18 sheep

5. Answers will vary. Sample: I would use a box for each item and move each item
into the box once I have checked them.

6. Answer: False

7. Answer: 59 animals

8. Group the following animals:

� Large: Cow, Elephant

� Small: Sheep, Goat

9. Match the following:

� Answer: Cows – 36

� Answer: Sheep – 23

10. Creative Question: Answers will vary.

11. Answer: 23 sheep

12. Answer: 59 animals

13. Answer: Elephant

14. Answer: Answers will vary.

15. Answer: 69 animals
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